

State of West Virginia Solicitation Response

Proc Folder: 1291418

Solicitation Description: Addendum 2-Galvanized Structural Steel

Proc Type: Agency Purchase Order

 Solicitation Closes
 Solicitation Response
 Version

 2023-10-05 14:30
 SR 0803 ESR09222300000001475
 1

VENDOR

000000200099

HUNTINGTON STEEL & SUPPLY CO

Solicitation Number: ARFQ 0803 DOT2400000023

Total Bid: 42619.51999999999679857864975 **Response Date:** 2023-09-22 **Response Time:** 15:41:21

Comments:

FOR INFORMATION CONTACT THE BUYER

Jerry D Rush 304-414-6683 jerry.d.rush@wv.gov

Vendor Signature X

FEIN# DATE

All offers subject to all terms and conditions contained in this solicitation

 Date Printed:
 Oct 5, 2023
 Page: 1
 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	W16x89, Galvanized W-shaped Structural Steel AASHTO M270	13261.0	000 LB	1.580000	20952.38

Comm Code	Manufacturer	Specification	Model #	
11101704				

Commodity Line Comments:

Extended Description:

W16x89, Galvanized W-shaped Structural Steel AASHTO M270, Grade 50 Ship 6 pcs @ 24'10"

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	C12x25, Galvanized Structural Steel Channel, AASHTO M270	2000.000	0 LB	1.530000	3060.00

Comm Code	Manufacturer	Specification	Model #	
11101704				

Commodity Line Comments:

Extended Description:

C12x25, Galvanized Structural Steel Channel, AASHTO M270, Grade 50 Ship 4 pcs @ 20'-0"

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	L4"x4"x1/2" (12.8#/LF) Galvanized Structural Steel Angle	397.00000) LB	4.130000	1639.61

Comm Code	Manufacturer	Specification	Model #	
11101704				

Commodity Line Comments:

Extended Description:

L4"x4"x1/2" (12.8#/LF) Galvanized Structural Steel Angle, AASHTO M270, Grade 50, Ship 31 pcs @ 1'-0" fabricated in accordance with Exhibit C

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	L4"x4"x1/2" (12.8#/LF) Galvanized Structural	192.0000	0 LB	4.130000	792.96
	Steel Angle				

Comm Code	Manufacturer	Specification	Model #	
11101704				

Commodity Line Comments:

Extended Description:

L4"x4"x1/2" (12.8#/LF) Galvanized Structural Steel Angle, AASHTO M270, Grade 50, Ship 15 pcs @ 1'-0" fabricated in accordance with Exhibit D

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	HSS6"x6"x1/2" Galvanized Structural Steel Tube	1410.00	00 LB	2.020000	2848.20

Comm Code	Manufacturer	Specification	Model #	
11101704				

Commodity Line Comments:

Extended Description:

HSS6"x6"x1/2" Galvanized Structural Steel Tube, ASTM 500 (35.24#/LF), Ship 2 pcs @ 20'

Date Printed: Oct 5, 2023 Page: 2 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	1 1/2"x6" Galvanized Structural Steel Bar (30.6#/LF)	587.0000	00 LB	1.820000	1068.34

Comm Code	Manufacturer	Specification	Model #	
11101704				

Commodity Line Comments:

Extended Description:

1 1/2"x6" Galvanized Structural Steel Bar (30.6#/LF), AASHTO M270, Grade 50, Ship 1 pcs @ 19'-2", Mark M1

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
7	3/4"x6" Galvanized Structural Steel Bar (15.3#/LF)	293.0000	00 LB	1.510000	442.43

Comm Code	Manufacturer	Specification	Model #	
11101704				

Commodity Line Comments:

Extended Description:

3/4"x6" Galvanized Structural Steel Bar (15.3#/LF), AASHTO M270, Grade 50, Ship 1 pcs @ 19'-2", Mark M2

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
8	3/4"x6" Galvanized Structural Steel Bar (15.3#/LF)	293.0000	00 LB	1.760000	515.68

Comm Code	Manufacturer	Specification	Model #	
11101704				

Commodity Line Comments:

Extended Description:

3/4"x6" Galvanized Structural Steel Bar (15.3#/LF), AASHTO M270, Grade 50, Ship 1 pcs @ 19'-2" with slotted holes fabricated in accordance with Exhibit B, Mark M3

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
9	W6x25, Galvanized W-shaped Structural Steel, AASHTO M270	1500.00	000 LB	1.560000	2340.00

Comm Code	Manufacturer	Specification	Model #	
11101704				

Commodity Line Comments:

Extended Description:

W6x25, Galvanized W-shaped Structural Steel, AASHTO M270, Grade 50, Ship 3 pcs @ 20'-0"

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
10	MC18x42.7, Galvanized Structural Steel Bar, AASHTO M270	4270.0000	LB	1.950000	8326.50

Comm Code	Manufacturer	Specification	Model #	
11101704				

Commodity Line Comments:

 Date Printed:
 Oct 5, 2023
 Page: 3
 FORM ID: WV-PRC-SR-001 2020/05

Extended Description:

MC18x42.7, Galvanized Structural Steel Bar, AASHTO M270, Grade 50, Ship 5 pcs @ 20'-0"

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
11	C12x20.7, Galvanized Structural Steel Bar, AASHTO M270	414.000	00 LB	1.530000	633.42

Comm Code	Manufacturer	Specification	Model #	
11101704				

Commodity Line Comments:

Extended Description:

C12x20.7, Galvanized Structural Steel Bar, AASHTO M270, Grade 50, Ship 1 pcs @ 20'

 Date Printed:
 Oct 5, 2023
 Page: 4
 FORM ID: WV-PRC-SR-001 2020/05



Huntington Steel & Supply Company 100 Third Avenue Huntington, WV 25701

Phone: (304) 522-8218 Fax: 304-522-1824 Website: http://www.huntingtonsteel.com

September 22, 2023 3:40:43PM Page 1 of 2

More than a Century of Service!

Quotation No. 160013

Bill To WVDOH-Finance Division-COD

1900 Kanawha Blvd East State Capitol Complex / Building 5 Room A220

Charleston, WV 25305-0430

Ship To WV Dept Of Highways
DISTRICT 8 - HEADQUARTERS

1101 N. RANDOLPH AVENUE ELKINS, WV 26241

ATTN: Jerry Rush

Customer P.O. #: Contract:

Sales 1: Kevin Ingram

GALVANIZED

Quote Date: 09/22/2023 F.O.B.: Delivered Sales 2: Joe Salem **Due Date:** 10/31/2023 Ship Via: Our Truck

Terms: Net 30 Days

Pcs	Description	Width	Length	Weight	Price	UM	Extension	Ta
6	16" @ 89# Wide Flange (WF) Beams DOMESTIC AASHTO M270 GRADE 50 GALVANIZED ASTM A992		24' 10"	13,261	\$1.58	Р	\$20,952.38	E
4	12" @ 25# Hot Rolled Channels DOMESTIC AASHTO M270 GRADE 50 GALVANIZED ASTM A36		20' 0"	2,000	\$1.53	Р	\$3,060.00	
31	4" X 4" X 1/2" Hot Rolled Angles DOMESTIC AASHTO M270 GRADE 50 GALVANIZED ASTM A36 SAW CUT & DRILL PER EXHIBIT C (4) 13/16" HOLES EACH		1' 0"	397	\$4.13	Р	\$1,639.61	ı
15	4" X 4" X 1/2" Hot Rolled Angles DOMESTIC AASHTO M270 GRADE 50 GALVANIZED ASTM A36 SAW CUT & DRILL PER EXHIBIT D (4) 13/16" HOLES EACH		1' 0"	192	\$4.13	Р	\$792.96	
2	6" X 6" X 1/2" Square Tubing DOMESTIC GALVANIZED ASTM A500 Grade B		20' 0"	1,410	\$2.02	Р	\$2,848.20	
1	1-1/2" X 6" Hot Rolled Flats DOMESTIC AASHTO M270 GRADE 50 GALVANIZED ASTM A36 MARK M1		19' 2"	587	\$1.82	P	\$1,068.34	
1	3/4" X 6" Hot Rolled Flats DOMESTIC AASHTO M270 GRADE 50 GALVANIZED ASTM A36 MARK M2		19' 2"	293	\$1.51	Р	\$442.43	
1	3/4" X 6" Hot Rolled Flats DOMESTIC AASHTO M270 GRADE 50 GALVANIZED ASTM A36 SAW CUT & DRILL SLOTS PER EXHIBIT B MARK M3 (2) 1-1/4" X 3" SLOTS		19' 2"	293	\$1.76	P	\$515.68	
3	6" @ 25# Wide Flange (WF) Beams DOMESTIC AASHTO M270 GRADE 50		20' 0"	1,500	\$1.56	Р	\$2,340.00	

Huntington Steel & Supply Company 100 Third Avenue Huntington, WV 25701

Phone: (304) 522-8218 Fax: 304-522-1824 Website: http://www.huntingtonsteel.com

September 22, 2023 3:40:43PM Page 2 of 2

More than a Century of Service!

Quotation No. 160013

Bill To WVDOH-Finance Division-COD

1900 Kanawha Blvd East

State Capitol Complex / Building 5 Room A220

Charleston, WV 25305-0430

Ship To WV Dept Of Highways

DISTRICT 8 - HEADQUARTERS 1101 N. RANDOLPH AVENUE

ELKINS, WV 26241

ATTN: Jerry Rush

Customer P.O. #: Contract:

Sales 1: Kevin Ingram

Quote Date: 09/22/2023 F.O.B.: Delivered

Sales 2: Joe Salem

Due Date: 10/31/2023 Ship Via: Our Truck

Terms: Net 30 Days

Pcs	Description	Width	Length	Weight	Price UM	Extension Tax
	ASTM A992					
5	18" @ 42.7# Miscellaneous Channels DOMESTIC AASHTO M270 GRADE 50 GALVANIZED ASTM A36		20' 0"	4,270	\$1.95 P	\$8,326.50 E
1	12" @ 20.7# Hot Rolled Channels DOMESTIC AASHTO M270 GRADE 50 GALVANIZED ASTM A36		20' 0"	414	\$1.53 P	\$633.42 E

Total Weight 24,617

Subtotal Non taxable \$42,619.52 Subtotal taxable \$0.00

\$0.00

Total **\$42,619.52**

Unloading Instructions

Messages:

INVOICE TO: DIVISION OF HIGHWAYS DISTRICT EIGHT - ALL LOCATIONS P.O. BOX 1516 ELKINS, WV 26241

Items for Project S336-220/4-2.19, Little Sycamore Bridge RFQ #08240125

Pricing Page RFQ #08240125

Item No.	Quantity	Units	Description	Unit Cost	Total
1	13,261	LB	W16x89, Galvanized W-shaped Structural Steel, AASHTO M270, Grade 50 Ship 6 pcs @ 24'10"	\$1.58	\$20,952.38
2	2,000	LB	C12x25, Galvanized Structural Steel Channel, AASHTO M270, Grade 50 Ship 4 pcs @ 20'-0"	\$1.53	\$3,060.00
3	397	LB	L4"x4"x ½" (12.8#/LF) Galvanized Structural Steel Angle, AASHTO M270, Grade 50, Ship 31 pcs @ 1'-0" fabricated in accordance with Exhibit C	\$4.13	\$1,639.61
4	192	LB	L4"x4"x ½" (12.8#/LF) Galvanized Structural Steel Angle, AASHTO M270, Grade 50, Ship 15 pcs @ 1'-0" fabricated in accordance with Exhibit D	\$4.13	\$792.96
5	1410	LB	HSS6"x 6"x1/2" Galvanized Structural Steel tube, ASTM 500 (35.24 #/LF), Ship 2 pcs @ 20'	\$2.02	\$2,848.20
6	587	LB	1½"x 6" Galvanized Structural Steel Bar (30.6 #/LF), AASHTO M270, Grade 50 Ship 1 pcs @ 19'-2", Mark M1	\$1.82	\$1,068.34
7	293	LB	¾" x 6" Galvanized Structural Steel Bar (15.3 #/LF), AASHTO M270, Grade 50 Ship 1 pcs @ 19'-2", Mark M2	\$1.51	\$442.43
8	293	LB	¾" x 6" Galvanized Structural Steel Bar (15.3 #/LF), AASHTO M270, Grade 50 Ship 1 pc @ 19'-2" with slotted holes fabricated in accordance with Exhibit B, Mark M3	1.76	\$515.68
9	1500	LB	W6x25, Galvanized W-shaped Structural Steel, AASHTO M270, Grade 50 Ship 3 pcs @ 20'-0"	\$1.56	\$2,340.00
10	4270	LB	MC18x42.7 Galvanized Structural Steel Bar, AASHTO M270, Grade 50, Ship 5 pcs @ 20'-0"	\$1.95	\$8,326.50
11	414	LB	C12x20.7 Galvanized Structural Steel Bar, AASHTO M270, Grade 50, Ship 1 pcs @ 20'	\$1.53	\$633.42

EXHIBIT A

	Grand Total		\$42,619.52
--	-------------	--	-------------

Items for Project S336-220/4-2.19, Little Sycamore Bridge